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· Positions in the groups will be decided firstly by the number of matches won and then by the number of games won.
  
· Should two pairs in a group still be tied, then the result will be decided on the result of the match between them.

· Should three pairs in a group be tied, it will be decided on points won/lost differential.

· For the purposes of the above calculation, a walkover will be recorded as a 2-0 win, should games become a relevant factor. Should points become a relevant factor, the winners of any walkover will be credited with a +10 differential; the losers debited a -10 differential.

· Should all other factors be equal, the qualifier will be decided by drawing lots.

